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FRESHERS NOW

Section : General English

Q.1 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

He did not have few hopes when he contested the election. /No error
Ans X" 1. He did not have

“ 2. few hopes when he

x 3. contested the election

X 4. No error

Question ID : 239087901
Status : Answered
Chosen Option : 2

Q.2 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No Improvement.

The housing problem in Mumbai becomes more serious day by day.
Ans X" 1.No Improvement

X 2. become

x 3. had become

J 4. is becoming

Question ID : 239087902
Status : Answered
Chosen Option : 4

Q.3 Choose the most appropriate word that can substitute the given group of words.

The art of creating and arranging dances
Ans x 1. Geology

“ 2. Choreography
x 3. Seismology
X 4. Calligraphy

Question ID : 239087920
Status : Answered
Chosen Option : 2

Q.4 Select the most appropriate antonym of the given word.

Current




Ans X" 1. General

X 2. Modern

( 3. Past
X 4. Present

-

FRESHERS NOW

Question ID : 239087916
Status : Answered
Chosen Option : 3

Q.5 Select the most appropriate option to fill in the blank.

| am always ____ for good books.
Ans J 1. looking out

x 2. looking down
x 3. looking after

x 4. looking into

Question ID : 239087923
Status : Answered
Chosen Option : 1

Q.6 Select the most appropriate option to fill in the blank.

My mother is the ____ inspiration in my life.

Ans X" 1 big
x 2. bigger
J 3. biggest

x 4. most biggest

Question ID : 239087905
Status : Answered
Chosen Option: 3

Q.7 Select the most appropriate synonym of the given word.

Courteous
Ans X" 1. Optional

x 2. Arrogant

J 3. Polite

X 4. Meritorious

Question ID : 239087913
Status : Answered
Chosen Option : 2

Q.8 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

Sterling is only twenty four but have achieved so much in his professional football career.
Ans ( 1. but have achieved so much

x 2. in his professional football career




x 3. No error

X 4. Sterling is only twenty four

Question ID : 239087899
Status : Answered
Chosen Option : 4

Q.9 Select the most appropriate meaning of the given idiom.

To feel at home

Ans ( 1. To feel comfortable
x 2. To miss one's home
X 3. To feel out of place

x 4. To be rarely at home

Question ID : 239087918
Status : Answered
Chosen Option: 1

Q.10 Choose the correctly spelt word.
Ans  of 1 Foreign

/X 2. Eddition
x 3. Forrward
x 4. Enfluence

Question ID : 239087922
Status : Answered
Chosen Option : 1

Q.11 Select the most appropriate synonym of the given word.

Infuriate
Ans x 1. Endow

x 2. Enhance

( 3. Enrage
x 4. Engage

Question ID : 239087914
Status : Answered
Chosen Option: 2

Q.12 Select the most appropriate antonym of the given word.

Familiar
Ans & 1 Usual

x 2. Common
x 3. Known
( 4. Strange

Question ID : 239087915
Status : Answered




l Chosen Option : 4

Q.13 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No Improvement.

Not only the parents but also the children were sad at leaving the house.
Ans X" 1 asalso

x 2.s0 even
x 3. and also

J 4. No Improvement
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Question ID : 239087903
Status : Answered
Chosen Option : 4

Q.14 Choose the correctly spelt word.
Ans ( 1. Extravagant

x 2. Extrawagant
x 3. Extravagent

x 4. Extrevagant

Question ID : 239087921
Status : Answered
Chosen Option: 1

Q.15 Select the most appropriate option to fill in the blank.

| blood in the hospital tomorrow.
Ans X" 1. have donated

x 2. was donating
J&will donate
x 4. had donated

Question ID : 239087906
Status : Answered
Chosen Option : 3

Q.16 Choose the most appropriate word that can substitute the given group of words.

A violent windstorm
Ans x 1. Temperate

x 2. Drought
X 3. Draught
o 4 Tempest

Question ID : 239087919
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.




(J
Education makes a person self-reliant. An (1)___ person is well equipped to take important
decisions (2)____ life. He is the master of his (3)___ and fortune. On the other hand an
illiterate person (4)____ help and guidance at every step. He feels helpless (5)____ is at the

mercy of others. FRESHERS NOW

SubQuestion No : 17

Q.17 Select the most appropriate option for blank No. 1.
Ans X" 1_illiterate
« 2. educated
X 3. wise
X 4. learned
Question ID : 239087908
Status : Answered
Chosen Option: 2
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
Education makes a person self-reliant. An (1)____ person is well equipped to take important
decisions (2)____ life. He is the master of his (3)__ and fortune. On the other hand an
illiterate person (4)____ help and guidance at every step. He feels helpless (5)____ is at the
mercy of others.
SubQuestion No : 18
Q.18 Select the most appropriate option for blank No. 2.
Ans X 1.to
W 2.in
X 3. at
x 4.0n
Question ID : 239087909
Status : Answered
Chosen Option : 2
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
Education makes a person self-reliant. An (1)___ person is well equipped to take important
decisions (2)____ life. He is the master of his (3)___ and fortune. On the other hand an
illiterate person (4)____ help and guidance at every step. He feels helpless (5)____is at the
mercy of others.
SubQuestion No : 19
Q.19 Select the most appropriate option for blank No. 3.
Ans ( 1. fate

5 2. luck
x 3. chance
X 4. lot

Question ID : 239087910
Status : Answered
Chosen Option : 1

Comprehension:




In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Education makes a person self-reliant. An (1)__ person is well equipped to take important
decisions (2)____ life. He is the master of his (3)__ and fortune. On the other hand an
illiterate person (4)____ help and guidance at every step. He feels helpless (5)____is at the
mercy of others.

SubQuestion No : 20
Q.20 Select the most appropriate option for blank No. 4.

Ans X" 1 has needed
75 2.is needing
X 3. need
W 4. needs

-
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Question ID : 239087911
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Education makes a person self-reliant. An (1)___ person is well equipped to take important
decisions (2)____ life. He is the master of his (3)___ and fortune. On the other hand an
illiterate person (4)____ help and guidance at every step. He feels helpless (5)____ is at the
mercy of others.

SubQuestion No : 21
Q.21 Select the most appropriate option for blank No. 5.

Ans o 1 and
X 2. unless
75 3.though
X 4. but

Question ID : 239087912
Status : Answered
Chosen Option : 1

Q.22 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

It is easier to preach then to follow. /No error
Ans X" 1.to preach

X 2. It is easier
o 3. then to follow

X 4. No error

Question ID : 239087900
Status : Answered
Chosen Option : 3

Q.23 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No Improvement.

The train pass over the long dark tunnel.
Ans X" 1 passes into




x 2. pass across
X 3. No Improvement
( 4. passed through
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Question ID : 239087904
Status : Answered
Chosen Option : 4

Q.24 Select the most appropriate meaning of the given idiom.

Go getter
Ans J 1. Areal achiever

X 2. One who does the right thing
x 3. One who runs away

x 4. A greedy person

Question ID : 239087917
Status : Answered
Chosen Option : 2

Q.25 Select the most appropriate option to fill in the blank.

Young people from disadvantaged homes look for ___ in government jobs.
Ans X1 utility
x 2. capability
75 3. ability
J 4. stability

Question ID : 239087924
Status : Answered
Chosen Option : 4

Section : General Intelligence & Reasoning

Q.1 39 faeeu o1 ga= FIfSY St iR ug @ S ver H@4@fdq & 9 vaR @ ug gt ug @
Tafda &1

NPRT : 0QSU :: HJLN : ?
Ans o 1 1KMO

75 2.1KNO
75 3.IMKO
#5 4.KINO

Question ID : 2390871037
Status : Answered
Chosen Option : 1

Q.2 foneht fafdre ge o #, ‘BOTANY’ @l ‘CQWBPB’ forar Strar &1 I+t e wraT & INSECT &l shis
T ghm?

Ans  of 1 UPVFEW

75 2. JPUFEW




75 3. KQWGFX
75 4 KRWGFX

Question ID : 239087653
Status : Answered
Chosen Option : 1

Q.3 foreht fafare ge v &, ‘RIP’ &t 42’ fora Strat g $fiR ‘MOL it 39’ foran strar g1 3+t ahls e
# ‘GAN'’ <RI IS I ghTr?

Ans  of 1 01
52,22
X 323
< 4.20

Question ID : 239087656
Status : Answered
Chosen Option: 1

Q.4 A Ry faweal # 9 39 e ) gl 5t Aafaf@e siaer J v g (2) & va= o st

279,277,273, 267, ?
Ans  of 1 250

X 2.261
75 3.257
/X 4.263

Question ID : 239087662
Status : Answered
Chosen Option : 1

Q.5 Il NA & mht <t TEarei & enmue & aeo fear S @ a9t F=faf@a & @ e ar aefieror ot
ghm?

3w
Ans X" 1.1+9:3+5=9
7 2.3+5-4%x2=-1
o 36+5x2-3=7
X 4.3+4-1x5=2

Question ID : 239087666
Status : Answered
Chosen Option: 3

Q.6 = Ry 7y wmyAT 3 37 FAsehul @l ear @ g1 =l F & 7S SRR Bt g A, =R @
T w0 € 719 i § A7 srcht gf 1| aft s ue efiz fo RraffRa R 6 Ry g s=-d/an
freerd, T o1 arfher ®U & SIERUT hal/dRA &

HYA:

L.aftp QeI
I.F5Q,Z &I
n.gsz T8

foreent:
L3 T,PE




I.gsP,ZE (J
. T, Z T E ’
Ans X" 1. et Frseny || a0 AT 21

FRESHERS NOW
75 2. 3 e |1 a1 SrgeRor ad &1
75 3. et Frsy | IIgERoT T 21
o 2. oft st srgeror 78 aar 21

Question ID : 239087660
Status : Answered
Chosen Option : 4

Q.7 = w7 et 3R Ik fAsehuT @l e @ g1 Al # & S SR &l 9w A4, 9 @
T w0 § 719 i @ A areht g 1| aoft e ue eiik fow RuffYa R f6 Ry o e q/a
AR, AT o1 arfeher U @ SIgERUT RA1/ERA §

U
I. o RS HREi &1
1. eoft i =ers &)

e
I. o 9T AHhS! §

Il. Fo Fiai awst &1
. g9ft TR =e1s &1

Ans X 1. 2T e 11 @ 111 SERY &R §
< 2. 3 oft s orgeror 7 e 21
of 3. 2 P | e 1 srgeRor AR B
#<. 4. e forsem | SrgEROT el 1

Question ID : 239087661
Status : Answered
Chosen Option: 3

Q.8 FHUA 3R 3T a1 & Fed | oz |1 g 71 &)1 31rueh! =T A T A §¢ e FA B,
U & & T A 9t @ 9= udia @1a g, fAofa &R fn i @ e =it o arfehes a0

§ SR R B

HUT
. gt Qa1 SR §I
@. gt siir 34 &1

fArsepf
Lafidadi g
Il 9oft SR Qa1 &1

Ans  off 1 Faet Fred | srgERT aRaT 31
75 2. a1 a e | a1 11 SIgERoT R 21
25 3.7 P | o 7 € e |1 argeRoT g 21
75 4. et Frsne || SIgERoT R 21

Question ID : 2390871036
Status : Answered
Chosen Option: 1

Q.9 i Ry 7y el A @ usiRgs & T R 9 arell &1 ara Sl

49 86 104
657088




276678
87907

Ans X" 174
75 2.192
o 3114
/X 4.84
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Question ID : 2390871040
Status : Answered
Chosen Option: 3

Q.10 A Ry faereal & & 39 s1eR g &l gy sit Fafaf@d sjiaen d ust R (?2) T wR
ST

MR, NU, OX, PA, ?
Ans X1 RE

/X 2.qc

/X 3.RC

o 4D

Question ID : 239087649
Status : Answered
Chosen Option : 4

Q.11 39 faehea o1 T+ RS St Aot dear @ 3 uaR FE6fda @ o vaR gt dw ugd! S
@ Hefda g1

9:162::13:__
Ans X" 1290

/X 2.330
75 3.390
of 4338

Question ID : 2390871038
Status : Answered
Chosen Option : 4

Q.12 &: &R D, F, H, J, L au1 N s i 3R 9@ Teh Uah JATRR U & 3¢ - € @<t i =i & (5
gl foh 3 s=ft shw A gl) 1 H, N & ar=ff s et &1 J, D & gia ot @ik &1 F N & arff sz gt
21D, F & arfi 3k gost 81 Fi=-ft &R H & arff ok o T R @l @7

Ans X1 F
X 2.
WL
X 4N

Question ID : 239087657
Status : Answered
Chosen Option : 3

Q.13 39 fAeheq =1 Ta= o3 St AR 2reg @ I v A Hefda § S gERT 2reg gt 2reg @ Haifda g1
e O et : 2




Ans 1 &
P WA

W 3.8

p R
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Question ID : 239087651
Status : Answered
Chosen Option : 1

Q.14 : AfAAGTC, E, G, |, K 9T M &= &l 3R q@ ek Qe gaTehR A & 3¢ - I 33 gu &€ (S8
g1 foh & 5<ft shm A @)1 M, G & ol ok =T &1 E, C & i ok g@R1 81 K, M & e o oiR
gl
E & ¥a arfi 3R &l da1 o &2

Ans 1.6
2
K 3.k
X 4aMm

Question ID : 239087658
Status : Answered
Chosen Option: 1

Q.15 F=fafEa e § @ 39 sier gm ot g, 4 o Jeu @, st fRA Ry g sier gm A 81
GOM:JSR:?
Ans  of 1 COB:FSG
75 2.LAP:OFU
/5 3.MOP:PSV

75 4.RAT:UFY

Question ID : 239087652
Status : Answered
Chosen Option: 1

Q.16 I 2TeE oo T TG HFAT Sk a1 21 simuw A I uahR Gafda & 5w war = Rg g
21eg g & ST 21 omaw F Haifdd 81

& AT : GEUART

Ans  off 1 2t oz : e
/X 2. @R R
25 3. v : sy

75 4. & ageT - qus

Question ID : 2390871035
Status : Answered
Chosen Option : 3

Q.17 = Ry et d & 39 dn &l gy st Fafaf@a sigen 7 us R (7) & s R et

8,8,16,48,?

Ans  of 1 192




X 2.190
/X 3.19
X 4.216
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Question ID : 239087663
Status : Answered
Chosen Option : 1

Q.18 39 T faerea o1 wa= HIfAQ St sjzaer ot grT R
72,83,95,108, __
Ans X" 1120
o 2122
X 3121
X 4123

Question ID : 2390871039
Status : Answered
Chosen Option: 2

Q.19 urg fawa R, T, V, X au1 Z (=<t =g foF 3 3ft o7t # &t) 9i9aR & ehaR aeh ggrd ST &1 Gk
f& & dhaet v @ v uaran SiTaT 81 R @ ugs! Shaet Z Uern STaT g1 X @ ugst T Ugran SidT 8l

T gUaR @t €} UG STt 81 V 9 uget foha+t fava uerd wina 82
Ans X711
X 2.3
/X 3.0
W2

Question ID : 239087659
Status : Answered
Chosen Option : 4

Q20 RU orw Yot F1 LAATEF FeTAA FY HN W TEA F A S 5EH T Few () F TUR 0 0w

347
6 4 2
3 2 35
1512 7

Ans X1 41
X231
3 37
X 443

Question ID : 239087665
Status : Answered
Chosen Option : 3

Q.21 Fafafaa gfieror wt 98 T9M & g fa &) dereil ot smuw d g gim?

5x8+7-3=14
Ans X" 1 3qur7

/< 2.8au5




/X 3.7qus
of 4873

Question ID : 239087667
Status : Answered
Chosen Option : 4

Q.22 39 faehed o1 T+ @3 Sit At T @ St avg @ 6 & S g@d S et sen @
eifdd g1

17:289::31:7?
Ans X" 11021

X 294
75 3.1089
of 4961

Question ID : 239087664
Status : Answered
Chosen Option: 4

Q.23 39 faehed &1 Ia+1 o St IER 2reg § I R @ Hafda @ SR R 2 uge 2res @ Haifda &1
wueT: e wEe : ?
Ans X 1 werar

X 209

75 3. el

o 42

Question ID : 239087650
Status : Answered
Chosen Option : 4

Q.24 foret fafre e wimaT &, ‘PLANTS' @l ‘QNBPUU’ forar STt &1 3+t e e # ‘KIDNEY’ o1 shie
a1 ghm?

Ans  of 1 LKEPFA
75 2. LKFPFA
75 3. MLEQGE
/5 4.MLFQGB

Question ID : 239087654
Status : Answered
Chosen Option : 1

Q.25 fonedt fafre ge smuT |, ‘POLE’ ot ‘48’ forar STram & ik ‘ROG’ &t ‘40° fora it 81 3+t &ls
ATST # ‘TIP’ <R h1S <RI gRTT?

Ans X" 1 48
W 245
/X 3.35
X 444




Question ID : 239087655
Status : Answered
Chosen Option: 2

Section : Numerical Aptitude

Q.1 forslr 7 #1 10 To9 wiafes 8 wel a% @& oY 30 faat # U o ¥t §1 12 o9 wiafewy 4 g€
& 3H 4 F feaw G & @ w6

Ans X130 e
v'2 50 faa
X340 RBa
X 4 60 =T

Question ID : 239087789
Status : Answered
Chosen Option : 2

a2 v FAEEE T # 4T 4 om ¥ 3T 9w e

Ans

<183 cm?
<2 63 cm?
<3 93 em?
Vi 43 em?

Question ID : 239087794
Status : Answered
Chosen Option : 4

Q.3 o= gEw SeE T T Rewe, R @9 /8 @ O v 3o S (ReE) & 9% 56 (e
HORH) T 90T &9 H FaT 4 F 60 F9e 0T g1 3G I (FEs0) & araw # 9y o g, & des
(s W Trea &1 o & & foreeh ¢ ey o

Ans I

X -
vt
X —
x4 2

Question ID : 239087793
Status : Answered
Chosen Option : 2

Q4 v fEsor F o O (@ ) FoaT 4 3§ ofy s 4 e o fremr e A s
1: 1 & mar &1 e fAsor #§ gu & A G O

e o116 direT




< 2 20 aeT
/<3 18 AT
K 412 AT

-
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Question ID : 239087786
Status : Answered
Chosen Option : 1

Q5 4 st fr gad @ g FF @ L S 32, 40, 36 T 48 ¥ fmsw 2
Ans X 1. 9220

< 2 8820

V'3 8640

< 49120

Question ID : 239087774
Status : Answered
Chosen Option : 3

Q6 wwHwH 1T S0 AW 2B I F R FFEm A ITT 1 2 4 Y IR AT A FA w=T
3225 &, @ 38 50 ¥ ¥ o fher 2

Ans  of'1.150
X 2125
X 3175
X 4200

Question ID : 239087784
Status : Answered
Chosen Option : 1

Q.7 15 ot # ve @Hg W 0T & sitwa 3w 87 ¥ B e 25 o wifle g § e gu st s
79.5 g ST ¥ Y WA & 24 oI # A 74 ¥ gEY 99 ¥ 26 § oW @@ W 6

Ans X182
v 2 99
X3 76
X 4 89

Question ID : 2390871056
Status : Answered
Chosen Option : 2

Q.8 wF s I oF F AEAT 1232 cm® F FUT IEET FAE 24 om F| TEHT % [5G &R fhaeT &7
(m =2 )

Ans X1 354 cm?
v 2 550 cm?
/< 3 430 cm?




X 4 604 cm? J

Question ID : 239087795
Status : Answered
Chosen Option : 2

FRESHERS N

Q.9 firdr fFeg Ul ww 20% wiREd & == @7 ¥ & IuT & WAWeT S 3250 ¥ WA 0= &Y 9
TFA D F v TEe o W Twgfy sue (s w9 @ gfem) e g2

Ans  of 1. 3275
X 23900
X 3 3550
X 4 3750

Question ID : 239087787
Status : Answered
Chosen Option : 1

Q10 3pf24+8%x3+4+2-4X%5
36 +12%x4+2+5%(6—4)

FT AT Fdar 87

Ans g

Ko —

15

v =

16

Ko =

10

3
4. 2=
<=

Question ID : 239087775
Status : Answered
Chosen Option : 2

Q.11 72000 & af¥r Fr wrgfE o= (@M 77 T o) W e G snar &1 3k s & 2 10%
gfaey &, o 30 7 F =15 fisne fraer g

Ans X1, 32538
X 2 32524
v 5 32541
X 4 32532

Question ID : 239087788
Status : Answered
Chosen Option: 3

U2 Rv v AEE § T Fw §?
6,2 3,5 9 4 8,7

Ans  of 1. 55
X225




<36
X465

-
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Question ID : 239087780
Status : Answered
Chosen Option : 1

W s, 9,42 27
2 32 3.3J16 @ AT Faam B?
2 3 9 3 6
Ans X'l E
vz
S
X

Question ID : 239087776
Status : Answered
Chosen Option : 2

Q.14 oz e e TR @ (Tl ) @ IR # & 1 fEee & R o 31 R e S ders
TERTET &7 FETE ¥ AR & & 9N S H eI H o §Ag @ (d%s H)?

Ans X1 150
X 2 90
X'3.120
v+ 180

Question ID : 239087792
Status : Answered
Chosen Option : 4

Q.15 faf a5g &1 10% 3 20% #1 & F&AF gei | =0 = &1 afy feew g 21080 &, = aiferm aew
T 2

Ans  of' 1. 31500
X 231600
X 331400
X 431300

Question ID : 239087779
Status : Answered
Chosen Option : 1

Q.16 A B 3% C frul & F7 3mR-300 3 38 HAT 12, 24 3R 36 R F @ W wwa §1 F e
3T FE FT G H 23850 WYd Fd 31 B 7T C F oy Fr uhEAT F Rhaar Hew §7

Ans o1 3350




X 221400
< 3 21050
< 4 2700

-
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Question ID : 239087790
Status : Answered
Chosen Option : 1

Q17 el I F 22.5% F W W A AN RIS Hed TN AFT Hed T HGAS e §7

Ans X133 &7

X2 39 : 69
V'3 40 : 49
X434 - 63

Question ID : 239087782
Status : Answered
Chosen Option: 3

Q.18 Frer Fur far $r sitwa 3y 28 aF §| Fan, BeT 9w 36 T & st g 20 I §) 9= ey
et &7

e 4
K23 a8
<36 ay
X 45 T

Question ID : 239087778
Status : Answered
Chosen Option: 1

Q.19 A For B #r A1 310 7 59T 3 @ 4 § 7 IAF TS =TT F OGS 2 : 3 ¥ TR T AF 24000
9ty Ag F=7T &, ° B # amm e 27

Ans 1. 320000
X 2314000
v = 216000
X 4312000

Question ID : 239087785
Status : Answered
Chosen Option : 3

Q.20 40 <rex @EF @ F 10% Femae ¥ 57 40 whex F fawr weg 3w Feer awh § S seEar
TEFT 5% g Sm?

Ans - X1 50 dreT
X210 diex
< 320 aeT




v i 40 FreT ®

Question ID : 2390871058
Status : Answered
Chosen Option : 4

FRESHERS N

Q21 w= mr Fr swT afy 600 I &) FE w=F, 06 T F 100 AT Hr gh T A &, Fr
T # PR et ol oy (Fevdes 7) @ Teer 82

A

ns X1-i
Xz.i
Xs.%
Vol

Question ID : 239087791
Status : Answered
Chosen Option : 4

Q.22 z¥g 1 @ 7180 # &=w Tl IFg 2 #1240 F F=7 | FEG 1 W o 20% ¥ AR IEg 2 WA
20% ¥ BT EgaT & @ A & e Reae §2

Ans  of 1. 3450
X 2 3480
X 3. 3520
X 4 3400

Question ID : 239087783
Status : Answered
Chosen Option : 1

Q23 A B @ 20% &= ¥ B, C & 25% o 1 C, A & e widera w7 2
Ans of 1. 33.33%

X 2 37.5%

< 3. 50%

< 4 66.66%

Question ID : 239087781
Status : Answered
Chosen Option: 3

Q.24 i gog #r Fo 210,000 | =¥ = FAE TE F A 7866 F TR gEwr fasar @ A= fga o,
e & ogedt & ge 10% 3t 8% o Frwdr oo @ sl feeem a2

Ans  f 1 B
<23
<365
K445




Question ID : 2390871057
Status : Answered
Chosen Option : 1

FRESHERS N

Q.25 4 Femmt @ sitma 9 31 Of o 3t Twr 14 w5 o afEe e s, ar wan sitee e ¥

Ans X195
<2105
X3 9
v 410

Question ID : 239087777
Status : Answered
Chosen Option : 4

Section : General awareness

Q.1 T hTet § E5pd § BRE J SFIfRd AgTWRA &l _____ 19 & =11 ST @1
Ans X’I?Kﬁw

25 2. g

o 3.

/X 4. aresmgaT

Question ID : 239087547
Status : Answered
Chosen Option : 3

Q.2 @1 dieh g thisH' foheh streranaT &2
Ans x 1. Y =TT

X 2.5 g &

o 3. deEEan

/X 4. IrsTen e

Question ID : 239087529
Status : Answered
Chosen Option : 3

Q.3 fmafaf@a & @ s 154t eraredt & SR srem & Awrg e & qeg Tda § @ g o
Ans x1_mi—c;

75 2. e

< 3w

W 4 sEa

Question ID : 239087546
Status : Answered
Chosen Option: 2

Q.4 2019 # f=fafEa & & fra wu = 't vga & w=ida &= aifta frar 82
Ans  off 1 <ied @




X 2. wawy
/X 3. Fafar ey
X 4. Ry

-

FRESHERS NOW

Question ID : 239087524
Status : Answered
Chosen Option : 1

Q.5 FEfafaa d @ e woa WReR A SH 2019 § FrEmET Afdfaw 1948 § Heited @ dspd & &2
Ans Jyrﬁa-r

X 2. 7erE

/X 3.7eRE

P s

Question ID : 239087535
Status : Answered
Chosen Option : 3

Q.6 R Tl & fFa srgede d srgraar 3= e & fawg d Swra forar mar 82
Ans X 1. argea 16

X 2. s 21

/X 3. agme 25

of 4 e 7

Question ID : 239087536
Status : Answered
Chosen Option : 4

Q.7 2018 e &Y fRAUTA F IER, Fihl HT AT HTR TSTIAEGH 21
Ans X" 1 srofier

X 2w

X 3.

o 4 st E

Question ID : 239087543
Status : Answered
Chosen Option : 1

Q.8 WRd I I THATS ATT SHTA[E T AT T AT foreehr g sitfeam & Rifgarar & gam ar?
Ans X1 foeh

X 2. R
o 3. R~
/X 4. e

Question ID : 239087540
Status : Answered
Chosen Option : 3




Q.9 2018 # fA=fafEa & @ sife & fore wrT At dwfAert ZRT 3D Ffta fFar war @2

Ans

X 1. amsRa
X 2.3

X 3.3
of 4 R

-

FRESHERS NOW

Question ID : 239087542
Status : Answered
Chosen Option : 2

Q.10 fA=fafaa & @ Si9-91 gevtarst 20,000 ARTEY F TR @ AT 1A & W T4 a1t

Ans

TeAaTSt - TT?
W 1. frre @
/X 2. Afea el
7 3. R g
/X 4. vagg a

Question ID : 239087527
Status : Answered
Chosen Option : 1

Q.11 AT YR & d@e 7, F=fafea gm § @ sF-ar gm 9d 82

Ans

< 1. et it - wiRaR
X 2. s - gt

#< 3. e sffeR - @
o 4. zord aratar - g

Question ID : 239087548
Status : Answered
Chosen Option : 1

Q.12 Qe gidureRr & foha= afe gid &2

Ans

/X 1.766df

o 2 7463t

/X 3.7564df

/X 4.736df

Question ID : 239087541
Status : Answered
Chosen Option : 2

Q.13 R S@faear # e geRTawie $h 2ifth 3R TraTfereht 6l Tdsrar 1 urae e 3 @

Ans

forar war g2
75 1. sirefemn
X 2 R
/X 3.wmE

o 4 e




Question ID : 239087537
Status : Answered
Chosen Option : 4

Q.14 uTgsii & A1y STAfAfAe sl iy sifufohar gi=t wR &ia-3t A9 3= gidt 82
Ans X 1 Argeier

(2,313@3@1—4

75 3. e grsilaaTEe

/X 4. SifertieT

Question ID : 239087538
Status : Answered
Chosen Option : 2

Q.15 S 2019 deh hi fEATA & IR, R Siiwifie g & sredel HiF &7
Ans X‘]_QT\_yﬁ'aﬁ'aa'[

75 2. RO T

/X 3. 37 Rig Heren

J4.:|i“;:a3n

Question ID : 239087528
Status : Answered
Chosen Option : 4

Q.16 &= gt 2019 & IR, THT 3R =7 Geaa org uR WAIYeH 10% G qEThT ______ TR
Ramman &1

Ans X" 1.0.105
X 2.01m
75 3.012
o 40125

Question ID : 239087533
Status : Answered
Chosen Option : 2

Q.17 fA=fafE@a & @ sia-ar dlen sTaiwEe 87
Ans ( 1. ofg

X 2. et
75 3w

X 4 ey

Question ID : 239087539
Status : Answered
Chosen Option: 1

Q.18 fA=fafE@a & @ &F WRd I @ g=faq 78 &2
Ans X1 HRReh 2T
/X 2. wash g




o 3. s v Tt
/X 4. Rt wmd

Question ID : 239087530
Status : Answered
Chosen Option: 3

Q.19 Ffafea # @ fr 7& = Arnef= 9rR Ty’ e 82

Ans X1 Tierad
W 2. 3o
X 3wk
75 4. TEE@

Question ID : 239087545
Status : Answered
Chosen Option : 2

Q.20 Frafaf@add _____ gdf are &t wed S =1d 2

Ans XL@@@@
V 2w
75 3. Feiag
X 4. s

Question ID : 239087544
Status : Answered
Chosen Option : 2

Q.21 F=fafEa # 9 w9- gwae 39+ Wi gR faf@a 78 82

Ans X 1. iR 2020

7% 2. Atk 4fean sitew

o 3. a1 G srcwarss

/X 4. 97 g et

Question ID : 239087531
Status : Answered
Chosen Option : 1

Q.22 der Tt aSIET 1 AT FHgl (€ 8?

Ans x1€u}
/X 2. wrererdn
W 3

X 4.7

Question ID : 239087532
Status : Answered
Chosen Option : 4

Q.23 gt ek i ETeITET T 82

Ans




75 1. 3R T SRR 7w wife ®
X 2. et Y el ’
o 3 stz FRESHERS NOW
X 4. 7e o g & fae

Question ID : 239087534
Status : Answered
Chosen Option : 3

Q.24 fFEfefEa d @ i aigd a5 82
Ans “ 1. eRurare R

X 2 iR géa

/X 3. R gar mf

/X 4. siER

Question ID : 239087525
Status : Answered
Chosen Option : 1

Q.25 WRA & fF9 =T F A1siiey g AT S 82
Ans X1 Bga

X 2. ufm e

o 3 s

X 4w

Question ID : 239087526
Status : Answered
Chosen Option : 4




